PARTS LIST

m Lever Lock | PAGE  REV.B

11G15-3 | | aE No.11.5 9/24/03"

ltem Reqg'd. . Description

1 1 — Lever {See Lever Page)

2 1 *on Rose Assembly (See Rose Page)

3 1 11-0031 Inside Cailar

4 1 01-1424 6 Lobe Security Set Screw 1/4-28 x 11/64"

5 1 11-2153 Non-Locking Sleeve Assembly

6 1 *11-2106 Latch Assembly

7 1 11-2001 Bearing Assembly

8 1 11-0039 Aligning Pin

9 2 *01-5000 Countersunk Flat Head Screw 8-32 x 3/4"

12 1 01-1027 Countersunk Flat Head Screw 10-24 x 3/8" {1;3/4" Door)
01-1018 Countersunk Flat Head Screw 10-24 x 1/2" {2" Door)

13 1 11-0174 Anchor Plate
*11-0034 Rose “"O" Design

14 1 *11-0035 Rose "B” Design
*11-0036 Rose "L" Design
*11-0037 Rose "E” Design

15 1 *11-0173 Rosette Plug * Specify Finish




